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Conjunction = and, both need to be true

Disjunction > Or, only one needs to be true
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Absolute Value Inequalities:
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Solve and graph:

(graphs are required even when not specifically asked forl)
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From Text:
Pg 249 — 250: 58, 65, 66

58. Gina plans to invest $12,000, part at 4% simple interest and the rest at
6% simple interest. What is the most she can invest at 4% and still be
guaranteed at least $650 in interest per year?
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$ix + 51200 -x ) =650

Sep 14-9:20 AM

65. Explain why |x| < p has no solution for p < 0.

(<[ <O |x|<-| P is O or r\(go\—\-\l/c
Qbsolute velus measurcs Yous Aishance

F(om Owl«‘q[\ M(AS"'" b? »005‘.!,‘1.\/1

66. Explain why all real numbers are solutions of |x| > p, for p<0.
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